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= 44,222
= 575,250
= 2,685,624
Fotlls g5 843 2,466,596 1,616,000 850,596
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| 17,500
= 44,222
& 575,250
= 1,789,624
Zottls g3 A 311,565 44,350 267,215
201 LBHE2HH| 55,045 22,360 32,685
01 AtS2eld] 18,925 18,040 885
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0 ZStUl=SA 20 200, 0003 *43| x5 At 4,000
od=2 M= 50,000& 43| *10& 2,000
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O= gl 5,120
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o2d+¢ 3,290
ORUSAXE AA EIid
70,0003 43| x2H 560
OEEESHAN FHUANS FAH
70,000 23| 114 1,540
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70,0008 28| 7% 980
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ogxte 4,265
oMUESHD AXE 4,265,0009! 4,265
02 =2z 3,120 3,120 0
OZza2 % MAl 3,120
02 Y HHE 3,120
—soem 1, 7502 x60S * 122 1,260
—ggten 2502 %3005 * 128 900
—E22 ¥ e
4,0009 +203] * 122 960
03 A2 33,000 1,200 31,800
OS3t0E A S| 33,000
o2 EHA S| 1,000, 0002 *33] 3,000
o XI283] BBIolY AL I E5HKBSZ &
Sot3| 30,000,0002!* 14! 30,000
202 01t 10,220 8,790 1,430
01 =LHoi 10,220 8,790 1,430
O=sis YLFD 10,220,0008! 10,220
203 YRFAY 2,700 4,000 A 1,300
03 ABFXYDEAY] 2,700 4,000 A 1,300
OS3H22 AUET 3,000,0002 %0.9 2,700
301 YsrEAI 3,600 9,200 5,600
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O=H=H OF WM& 2 22  60,000,0008 60,000
250E A X2 992,222 696,000 296,222
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OZoredl =EJ|8 MG X
50,000, 0002 50,000
OB DS ALK R 8,000,002 8,000
03.123H% = X2 50,000, 0002 50,000
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6,000,00024 6,000
OB EA Rl X 6,000,0002 6,000
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15,000, 0002 15,000
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Oko=s2sd 29 X 15,000,000 15,000
OZY olxsdssH 22 84 K&
30,000,000& 30,000
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Ogkn JI2d MWs 5,000,000& 5,000
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i 2,000
OMNE2M H=l K& 10,000,000 10,000
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OHEL SHA TAR AT L2HAY
K& 20,000,000 20,000
OOFAIOHI=HI W=l XI& 25,000,000& 25,000
OHEHAEW=S X 10,000,000& 10,000
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2 7,500
= 3,750
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0FI|, HAE 23 11,280
—JIE2d J2S ®IIQ3
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—JIERH STA Nol4E 23
50,0002 %204 4 %122 1,200
—ofE Y ®Il= 300,000 +122 3,600
OsFBAX A sxB2 7,000,0002! 7,000
03 A2 Y] 10,000 10,000 0
ORZHES T A -2 B 222 29
Hl 5,000, 00021 *24} 10,000
202 Ofl 8,760 7,810 950
01 =00l 8,760 7,810 950
ORZ YR 8,760,000 8,760
301 LerBA3 12,825 7,850 4,975
10 SAAHIZ A3 12,805 7,850 4,975
OBZAY =T FOIX AHIB4
50,0002 +9% +103] 4,500
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50,0002 +9% 63| 2,700
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2 21,19
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=t 2,000,000 53] 10,000
401 Al&HILLCHY| 50,540 60,648 A~ 10,108
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= 125,000
iy 125,000
401 Al&EHIZE0iH] 250,000 0 250,000
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iy 125,000
01 Al&H] 248,200 0 248,200
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= 123,200
03 Al S 0HHI 1,800 0 1,800
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250,000,000& *0.72/100 1,800
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= 6,000
== 1,007,738
iy 941,943
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= 104,713
& 1,007,738
iy 825,786
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OEXE 23 22l dAIAG oA
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Ogt==ZH| 12,000
o=t KNEUa FEI
500,000 #4JH A 2,000
o=JtAE 23 =2 =&
10,000,000& 14! 10,000
Oo=2d+d 3,360
o=t HeHE ¢
70,0003 #2221 %23« 122 3,360
O=gtl 3,272
oS ME R FA SEHI 3,272,000& 3,272
02 3323l 6,650 3,465 3,185
Os22= € HA 3,750
OSAZESM HHEH =5
50,0003 »4001 2~ 2,000
oS BES ¥&= 1,750&+1,000& 1,750
OAl& EHI R X d| 2,900
023 M A FAALL(ERES)
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o==tM A3 2¢ 28,000 & »5001 2~ 1,400
202 Oddl 7,008 8,400 N1,392
01 =2UWnHl 7,008 8,400 1,392
O3t 2= 7,008,000 7,008
301 Et2A 3 4,800 4,800 0
12 JIet2a3 4,800 4,800 0
O=3tM dolztelel 24
40,0002 *100H 2123 4,800
401 AIEHIZ =0 20,000 20,000 0
01 Al&HI 20,000 20,000 0
O3t 2ASE=(EEH S)
2,000,000 *107H 2~ 20,000
402 fI2t=E0ld 50,000 0 50,000
01 BIZtA=2E=x 50,000 0 50,000
ORE ZEANA &L AT 50,000,000& 50,000
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307 21201 H 65,000 60,000 5,000
REIEIETRI=E S 65,000 60,000 5,000
OdHYLel BEFS XA (4/5H8])
12,500, 0002 *23] 25,000
OYLel BEHS KA (4/5H81)
12,500,0002 x23| 25,000
OfE2sM 2 A 7,500,0002 x27H 2 15,000
LHSH DT L BHHA X2 82,720 82,720 0
= 44,320
2 38,400
307 21201 82,720 82,720 0
= 44,320
2 38,400
EIEIETRNI=E S 82,720 82,720 0
OSESS M HSDIHI (102, 20HEHH) 76,800
0 BRX 700,0002 *6% * 122 50,400
= 25,200
2 25,200
b 300, 0002 *42 * 122 14,400
= 7,200
2 7,200
0 BREH 500,000 x20} 4 * 122 12,000
= 6,000
z 6,000
OSSR ZH A 5,920
0 BEE 2,200,0002 x20H 2 4,400
= 4,400
oM 1,520, 00021 *14} 1,520
= 1,520
VI ST 24 118,001 275,850 A 157,849
= 67,400
= 20,275
2 30,326
207 oA PINL| 46,000 0 46,000
= 23,000
= 8,050
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207 SO i 14,950
01 A1E9d| 46,000 0 46,000
O=INE 2t = Sa¥HA JZ2IE
&y 46,000,000& * 14! 46,000
= 23,000
= 8,050
i 14,950
401 A& HILROY| 72,001 260,000 A 187,999
2 44,400
& 12,225
i 15,376
01 Al&HI 71,482 258,128 N 186,646
O=INMNE2sM A (200 A)
41,698,000& 41,698
= 29,400
= 4,725
i 7,573
OF2684 It YHAY 29,784,000 14! 29,784
= 15,000
= 7,500
i 7,284
03 A& =0 519 1,872 A 1,353
OZIXNE23M ESAL (L)AL R
] 42,000,000 *0.72/100 303
OF2ddIts YAAMY AIZ204
30,000, 000& *0.72/100 216
=IINE 23 & HAIAE RS 50,000 0 50,000
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= 16,250
= 8,750
401 Al&HIZ =204 50,000 0 50,000
= 25,000
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= 1,768
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= 8,253
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2 1,769
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SENLIE 33,0008 902 +3 10,260
2 7,182
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2 1,539
0 JIE B U] 1,530,00084 *14} 1,530
2 1,071
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101 QI24H] 4,060 0 4,060
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10 JIXHIZNESS 4,060 0 4,060
ORI ZHES ol
4,060,000 12 %14] 4,060
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= XE 2 24 1,245,000 658,300 586,700
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2 394,875
401 ANEHL2HY 1,215,000 658,300 556,700
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OSXHSST S4AA(17H2A)
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OSXBSaH A (17HA) AL
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402 QIZEXHZOIH 30,000 0 30,000
= 30,000
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< 30,000
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= 75,000
= 75,000
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01 A& 148,920 0 148,920
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< 75,000
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03 Al&=CHHI 1,080 0 1,080
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01 DIRIRI=EE 100,000 100,000 0
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33, 20021 52 x5 43| 3,320
S22 xFue oy
33,2002 +3% +52 43| 1,992
Aut2 bl 93,567 45,984 47,583
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st 2| 37,052
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oUSH ADE 29 2,420
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40,0009 +4Z 122 1,920
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—ANEE R 50,0002 62 300
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—®I oHFI| RY 20,0002 *507H 1,000
o ZHOIX Z2ly| 400,00021*13] 400
0+FRE +4H| 500, 0002 x25 1,000
ORBL RS B 2T NN
5002 *10,0002 5,000
0"HEO HARE StEA 22
20,0002 *1,000% 20,000
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s
S23 BES
S22y

SA-HH O (SIH) - NEAY - BaS Aol e 2
SEEEE 6,660
osteReYIAS +Y
70,0003 x7H *23| 980
o YAE 50,000& x 12 %114 5,700
o=l 300
o OHHRJA Il=H| 150,000& *23| 300
O=&| 1,772
o2 2 =X Z | 1,772,000& 1,772
02 =324l 35,763 8,691
O3322 % HMA 27,763
ORH Y&z 3,000& *200% 600
odJllz 19,560
— = 2H(66kw) 1,500,000& x12& 18,000
— & 2k (10kw) 100,000& x12& 1,200
—&D| Ot BE =2 180,000& *23| 360
o&alGt=E 2 60,000& x12& 720
08N AIEE= 7,700 x12& 93
oRolZH EHZ(MB) 320,000& «12& 3,840
o ZZIHIOIE EB&HES 200,000& x12& 2,400
o dEEZAHOG AHIH| 300,000& *13] 300
oSt&A HIXT HAES 250, 000& *1JH A 250
Od=H| 2,200
oMAlA & AIRA LetZ 20,000& x90L! 1,800
ol=Dl 8% 20,0003 *4CH *53| 400
OAE &I XYl 5,800
o A At2tel = Xl Hi 500,000& 103 5,000
o HAaAH| 22|y 200,000& 43| 800
03 SHAISHHI 12,000 12,000
OMI2 I8 SEHEAE A
10,000,000 * 1A 10,000
OMIME I8 A} 2,000,000& * 1A 2,000
202 O44| 2,628 2,628
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HESS PEHS
S22 2o 22
SH - A G9(E) - HEAY - BAS Aol e
01 3L 2,628 0 2,628
Ot g2F4 2,628,000& 2,628
206 Tz 2,700 2,100 600
01 MZHl 2,700 2,100 600
OZH4+8 YHAE 2
10,000& 10 x32l 300
O&=x= HA 2H = 10,000& »10& +32l 300
O&&d=+ g ¢ 10,000& 10X 100
OXEE B 43 & JAM 2
200,000& 55 *23| 2,000
405 XAz SH| 11,950 11,700 250
01 ML =ESHSHI 10,950 10,700 250
ogszltiz(gs) #< 2,000,000& *5& 10,000
OW=2 7 450,000 = 1CH 450
OAtRa W&ED 2 500, 000& *1CH 500
02 EMN-YHI 1,000 1,000 0
Ost=c M 72 50,000& 20 1,000
g 23sy 29 6,000 6,000 0
= 6,000
201 et 6,000 6,000 0
= 6,000
03 A2l 6,000 6,000 0
Oou=22=3tsty 29 6,000,000& * 14 6,000
= 6,000
s 10,751,535 12,478,550 21,727,015
= 4,230
s 3,500,000
| 1,561,890
= 1,638,517
i 4,046,898
AXXYN 2435 1,208,800 977,651 231,149
J| 61,890
& 12,747
= 1,134,163
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g s ME
Celr AEXYN 245 (298

M- B8 S2(3H) - HRAY - BaS

AREYN B =T 20,800
201 Y2l 102,624
01 ARl 365,370

OgersgH| 6.710
OHMSHA Y 0|2 3.000,000%! 3,000
OHMSE HTA ADE 7Y

100, 000! * 122 1,200

oot BEE M 1,000, 000! 14} 1,000
0ZUSLTNA 2Y ADE 7Y 1,510
—aRy 50,0002 +20% 1,000
8322 7Y 8,500%! *60E+ 510

o2g+g 23,700
OMSR YT &Y 50,0008 474 1Y 23,700

ozl 4,960
OAREYMYR FZ HAH)

4,960,0002 4,960
02 BB 67,254

02223 2 HAl 53,654

OHEAL IR 41,988
-Jlza 17,677
S 5, 17021 x143KNx 122 x1 1 9,759
Hs o 5, 1702 1KNx 122 x1 1 6.211
] 5, 1702~ 15K 122 x1. 1 1,024
25w 5, 17021+ 10k~ 122 +1. 1 683
—ZDABE 24,311

HS 2
91,62 s55KNBAI 2Hx(365/12) * 1281 +1. 1 16, 183

Hs3e

O1.BR »44kI4 Al 24+ (365/12) 12+ 1. 1 6,473

=25
91,68 » 15K3A| 24(365/ 12) 128 x1. 1 1,655
OHMSAE 45145 23 3,240
—HE2 90,0008 122 1,080
—-HE3a 90,0002 * 122 1,080
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BHel AN 245 (el &
_ _ _ MEc
SA-ZH - S2A(3AH) - MEAME - HES Off &+ o4 Ofl At ot Blusz
-2 90,000 x12& 1,080
oHMEFH ==& 3,720
—Hs2 220,000& 122 2,640
=33 90,000& 122 1,080
0SSHFEAE REH| 1,560
—Hs2 130,000& «12& 1,560
odgstac ¥ fg=E AZEal|
36,000& 36
o&3tx FAE 33,0003 * 123 51 & 1,980
oRdAS0IER 458
—Hs2 6,600% 122 80
=33 31,500& 122 378
odst= 240
—H=s2 20,000& ~12& 240
oERH QHU MES= 36,0002 123 432
Od =zl 13,600
oMs2 A= 13,600
—H=s2 MR 2EUH
1,700&+1,000 ¢ 1,700
—Hs2 294 FRU
1,700& 5,000 £ 8,500
—=788 U2 R
1,700&*2,000 ¢ 3,400
202 044 8,176 8,100 76
01 =UW0oHl 8,176 8,100 76
OAZ=YMN SR 8,176,000& 8,176
405  AHAHE SH 10,000 0 10,000
01 M =SSHSH 10,000 0 10,000
OO0r2l HAE oI & 10,000& *1,000H 10,000
H=dAt & 25 A& 917,400 746,400 171,000
301 2otEH=S 4,800 4,800 0
10 @AM HIZESS 4,800 4,800 0
OESE Tt MSYA 2L
40,0003 20 2 32 4,800
307 elztold 912,600 741,600 171,000
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R RS
Crol: AREAK A3 CLEE
S - D . O NEAY . B2 Al OH HEE Hl =2+
02 QUAFAE X 64,000 64,000 0

OMEX=243 B MSAE AE2E K&
20,000, 000& 20,000
OM=3 23l 44.,000,000& 44,000
04 QIZIHAIE X 848,600 677,600 171,000
OZEMNEa dglis XA 4,000,000& 4,000
OZ2x=sts & K& 200,000,000 200,000
OZXMEI S=2E dLUs XA
11,000,000 11,000
O&=AH& & 4 XA 5,000, 000& 5,000
O=2M=Uz &K 195,000
oAR= 25,000, 000& 25,000
03 10,000, 000& «6IH E! 60,000
o™ 10,000,000& =11 & 110,000

O8.15&8= BXM=Ua HE X
5,000,000 «11JH & 55,000

ORM203 2SI &It

60,000,000 60,000
O s+U3s A 10,000, 000& 10,000
OHE-=4d2t MU HA
20,000,000& 20,000
OHNgal HN&d M2MMA32H0lL Tl N
kS| 10,000, 000& 10,000
OHMI73 OtZ0ISH S Hal W=
10,000, 000& 10,000
O=zglAadeeld| & ateitial Izl X2
6,000, 000& 6,000
ORM62l HEAD OtctE el il XI&
100,000, 000& 100,000
OA24EHM™E &It S8l X 10,000,000& 10,000

ORMI8al H&EAS2HI| HOIEZS Hal Xl

el 7,000,000 7,000
O=zZE s 2HX# 3,600,000 3,600
OdeN=2d3E fe AMthzl W=l X

2 50,000,000 50,000
OXM=ele & At X 2,000,000& 2,000

OTour de Korea 2009 =X MO0I2 3l
50,000,000 50,000
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OHM4sl HE24I| H=2L0 2E 0

40,000,000 40,000

MEHSDA 2 18,200 18,200
p 3,640
= 4,247
= 10,313

307 2120 M 18,200 18,200
p 3,640
= 4,247
= 10,313

02 QIZHAEE 18,200 18,200
OMENSDA 29 18,200,000 18,200
| 3,640
< 4,247
= 10,313

MBS0 XS 7,000 7,000
< 6,000
z 1,000

307 21201 H 7,000 7,000
= 6,000
= 1,000

02 ULHAEE 7,000 7,000
OLIEIE-FNI=ES 7,000
CMEBHSXASAG 2,000,000 2,000
< 1,000
= 1,000
oMEHSUE XY 5,000,000 5,000
= 5,000

o2 HSES X 20,580 20,580
p 10,290
= 10,290

307 SI2t0IH 20,580 20,580
p 10,290
= 10,290

02 QIZHAEE 20,580 20,580
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SA-ZH - S2A(3AH) - MEAME - HES Off &+ o4 glgafg Blusz
Onzd HEMSAN = iRl 20,580,000 20,580
Il 10,290
e 10,290
HdEN=Z2I8 NS 20,400 20,400 0
7 6,800
s 13,600
307 2i2told 20,400 20,400 0
) 6,800
= 13,600
02 UAHAHExX 20,400 20,400 0
OdEN=sEZZ Y 29 20,400,000 20,400
Il 6,800
o 13,600
HEHSXNZA A& 82,320 82,320 0
7 41,160
= 41,160
307 elztold 82,320 82,320 0
p) 41,160
s 41,160
02 UHAHEx 82,320 82,320 0
OMBHSXEZX X (4F) 82,320,000 82,320
Il 41,160
= 41,160
JOHUHLCO T &S 17,100 0 17,100
201 2Bt 2,500 0 2,500
03 A2 HI 2,500 0 2,500
Ol EEte A BN =5
500, 000& »5CH 2,500
301 EtEH S 7,600 0 7,600
10 A HIZ2dS 7,600 0 7,600
OLQoIEZ U & &4 24
40,0003 *20& %52 4,000
OXNMEOHS =MEHMOOtctEUWD H=TH
3l &t 60,0003 x 10 x2& 1,200
OXNMEOHS! =HMEMOOItEU2 =W
=Pl 40,0002 *30E 1,200
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M H=s &S
G ALXY N 2435 (&2 &2
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
OFOML! HOIE=S Ad==3US EFIXH
40,0003 x15H 2 1,200
307 QIZt0IA 7,000 0 7,000
02 OI2tAAH X 2,000 0 2,000
Os0t2l MeExsnds 29 2,000, 000& 2,000
04 OQI2tSHAIE X 5,000 0 5,000
Osoteloy AIXI2 (dEsotel MsH
3) 5,000,000& 5,000
ool M= s 5,000 0 5,000
& 2,500
o 2,500
307 QIZt0lA 5,000 0 5,000
& 2,500
o 2,500
03 AIZIHMEXZ 5,000 0 5,000
O&Mel M=2s NEH 5,000,000& 5,000
== 2,500
- 2,500
28 84 449,107 416,345 32,762
= 4,230
== 4,770
iy 440,107
E§AC 29 380, 107 356,345 23,762
301 LBt A= 380, 107 356,345 23,762
11 sdd . 2SESEA=2 380, 107 356,345 23,762
Ollstt2esEs 242 380, 107
o=10:! 117,492
—Z= 1,802,700 x12& x1H 21,633
- 1,417,400 128 x2H 34,018
— = 1,352,300 x12& x1H 16,228
- 1,287,900& *12& x2H 30,910
- 1,225,2003 *12& x1H 14,703
oJIY HZ2xE 39, 166
= 1,802, 700& *400%* 1 7,211
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o
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(=2

- SHRI(EAH) - NEAY - BE=

2
J2

o Il=l

—Edolg=s

1,417,4003 »400%+2H
1,352,300 »400%*1H
1,287,900 »400%+2H

1,225,200& »400%*1H

300,000& 12«1
250,000 12 «6H
9,790,800 x50%*22]

300,000 12 +«7H

30,0003 123 »3Y
20,0003 x12& «4H

3,000, 000& x2H

1,500, 000& x5 x22
70,0003 x6 L x53| »7H
60,0003 7L x52] x7H

ANats & 2d=s

200,000 »33]«7H

35,0002 x6H »5& «12&
100,000 & «6H #23]
10,000& »30EH~12&

60,000 x7&5*12&

200,000& »7&H +22]
120,000& »7& »43]
80,000& 7 x32]
50,000& 7 %23
200,000& »7& *12]
200,000& »7&*13]

70,000& x7H %23

11,340
5,410
10,304
4,901
21,600
3,600
18,000
9,791
25,200
2,040
1,080
960
6,000
29,700
15,000
14,700

14,700

4,200
22,440

12,600
1,200
3,600
5,040

12,320
2,800
3,360
1,680

700
1,400
1,400
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o9 255 54 (5l &2
_ _ _ MEc
SA-ZH - S2A(3AH) - MEAME - HES &Sy Ofl At ot Blusz
o=azteltl 500,000& 122 6,000
oBtTAEIHY S=y|
5,000,000 =12 5,000
oM&E et 24,478
—&= 1,802,700 +250%+* 1 4,507
—d= 1,331,350& »250%+6H 19,971
o ESHI(HE &=) 2,500,000& *13] 2,500
o2& 2tA| 3,000 »7E »200& 4,200
o 1 SH 120,000 »7H * 122 10,080
o AJIR EH| 10,000,000 «1&H 10,000
o=l ¥st3 3,000,000% 22| x2&H 12,000
0 2= H] 100,000& «12& 1,200
m I NEsEs |54 60,000 60,000 0
308 AXISHHMSOIA 60,000 60,000 0
06 WSIIZHUUHSEES 60,000 60,000 0
o1l MEss sdXd 60,000,000 60,000
SHE Fadsdds & 9,000 0 9,000
= 4,230
< 4,770
307 elztold 9,000 0 9,000
= 4,230
= 4,770
02 UANHHEX 9,000 0 9,000
Os0E a4 Fads X
1,000,000 9 9,000
= 4,230
= 4,770
M=oleh =4 9,093,628 11,084,554 1,990,926
= 3,500,000
) 1,500,000
S 1,621,000
o 2,472,628
HFAlE 2t 401,628 85,415 316,213
101 el 24,303 26,180 A1,877




SN 252D
HH: S AE
el RSl EH CRE-E)
o - o HAc
K- Z3 . S2(3H) - MPAY - B Y= Ao 0 At of 2
P ELEEEEES 24,303 26, 180
OHSD BAY o9y
33,2002 92 x92L 43| 10,757
OMEISZY BHFY o2y
33,200 x 10H x5 x4 3] 6,640
OOr2Sl MSAL By o5
33,2003 x4 H *23| *26H 2= 6,906
201 YEreay) 29,325 29,235
01 AtR2teldl 3,290 3,290
Oget=&Hl 3,290
oMsZ A2 M- 330
—WHI 5 7 4,000& 204 80
—7EH ¥ ASH P 50,000& *53] 250
OHSAEFH IZE B Y
40,0003 *23] *2H 160
oHMSR HSA 100,000 *285 2,800
02 =224l 26,035 25,945
oo zH| 535
oMSA LT SEY 535
—FgR 1,700 *300 £ 510
—-2d 2,500&*10= 25
OA&&EHl |l 25,500
0 BZ2MZAIE KX 5,500
—ZOMEHS2E 5,500
H@aqe 400,0002 1074 4,000
AR WH =2l 150, 000& 103! 1,500
oHSAE RX 22 20,000,002 20,000
401 AEHIL20 30,000 30,000
01 A&l 30,000 30,000
OsUIMSAIE 22 2= 30,000, 000& 30,000
405 KHeHHE SHI 318,000 0
01 XA EESHSHI 318,000 0
OAZ=DT FIIHIE 7
83,000,000 14! 83,000




2AM: 2otz
qm: Hs As
el MSII =4 (EH9|:® <)
SH B O(3) - HEAY - BaS Ao e H RS2
OAZ=IE S&2sI|IF 2
200,000, 0003 * 1A 200,000
O="dsd dIINMN +
35,000,000 * 14 35,000
HEATZXMT =4 6,142,000 6,958,000 A816,000
s 3,500,000
= 1,621,000
= 1,021,000
401 Al&HIZ2CHYI 6,142,000 6,958,000 A816,000
= 3,500,000
& 1,621,000
= 1,021,000
01 Al&HI 6,126,645 6,940,920 A814,275
OHNEALZ=TE THAH 6,126,645,000& 6,126,645
s 3,500,000
& 1,621,000
i 1,005,645
03 AlZ=2C0HYI 15,355 17,080 AN1,725
OHEBAZ=TS THAMY AIE20Y|
6, 142,000, 000& *0.25/100 15,355
HEZLMSHEH AE 2,150,000 500,000 1,650,000
Il 1,500,000
= 650,000
401 A&HIZ204YI 2,150,000 500,000 1,650,000
J| 1,500,000
= 650,000
01 A&l 2,111,085 500,000 1,611,085
ONEZUMSHEH HEAY
2,111,085,000& 2,111,085
| 1,500,000
o 611,085
02 Zeltl 31,175 0 31,175
OHEZOUXNSHH HSAIY 2eldl
2,150,000,000& *1.45/100 31,175
03 Al£Z=0Hd] 7,740 0 7,740
OHEZEUNSHH HEAY AL R0Y|
2,150,000,000& *0.36/100 7,740
SH JMsSAE 4X 100,000 200,000 A100,000
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SN FHH S (3H) - HREAY - BES Ao Sl ko HRs2
401 A& HIZ=2OY| 100,000 200,000 A100,000
01 Al&HI 100,000 199,460 A 99,460
OnlSTe MSAIE S (2H2)
100,000, 000& 100,000
BAURSS 24 300,000 0 300,000
401 Al &HI20HYI 300,000 0 300,000
01 Al&HI 297,840 0 297,840
OHBAUMST 22BA
297,840,000 * 14 297,840
03 Al&=0HY) 2,160 0 2,160
OHEAUMSZ 222A AE20H
300,000,000 %0.72/ 100 2,160
HY2IZH (2322 1) 70,578 43,760 26,818
ZHl 70,578 43,760 26,818
=y 70,578 43,760 26,818
201 L2yl 47,578 20,760 26,818
01 AtR2teltl 44,878 20,760 24,118
Oget4gY| 35,678
oJlE MREZEHI 70,0003 x22% 43| 6,160
OSHMIZED El 210,000 *6CH x4 3] 5,040
oZtEEED El
439,000 »1CH x4 48 %1 53] 2,634
o=AJI El 363, 0003 *30H A %4 3] 4,356
OmRIE AQE 60,0002 #6LH x4 3| 1,440
0 SAEXI(A4) 20,000 22«12 5,280
0 =S ArEXI(B4) 32,000 22 = 12& 8,448
otIZREE 70,0003 x 12«38 2,520
O=gt| 9,000
0ENME2E(BE) 9,000,000& 9,000
02 23244l 2,700 0 2,700
OSBRI 2,700
oES®H 2503 2 20001~ 123 600
0 SleH 1,7502 +2 10004 * 122 2,100
202 o1t 23,000 23,000 0
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_ _ _ Muo
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01 3L 23,000 23,000 0
ORNM2IE(ZS) 23,000,000& 23,000
HEas (23221 40,000 30,000 10,000
LHEHH K& 40,000 30,000 10,000
Otlll=d &EJIZ HE 40,000 30,000 10,000
702 JI2HEZ 40,000 30,000 10,000
01 JISHE=E3 40,000 30,000 10,000
OFI=rck—1= 40,000

oOtEH =X &E2I2 40,000,000& 40,000




